MODEL QUESTION 20

1. Fill'in the blanks with the words from the box. Make any change if necessary.

an to pleasant | vigorous | a with enjoy | for on beauty

Morning walk is a good habit. It is beneficial (a) — health. It is (b) — as well. It exercises a good effect (c) —
a man’s body and mind. The morning air refreshes his body and mind. It gives him (d) — opportunity to (e)
— the beauties of nature too. In the morning nature looks fresh and (f) — When a man takes (g) — morning
walk, he sees the superb beauty of the sunrise. After taking morning walk a man returns home (h) — a
cheerful mind. He takes his breakfast with great relish and starts his work with a fresh and (i) — mind. In
short, morning walk is so pleasant and good (j) — health.

a d g j

b e h

c f i
2. Fill'in the blanks with suitable words.
Air pollution means (a)........ ways in which the air is polluted. Airis (b)...... most important element of human
environment. Man cannot live (c)....... single moment (d)....... air. But we don’t think that it is we who
(=) this most vital element. Clean air is essential (f)........... life. Air is polluted (g)........... many ways. For
example, smoke pollutes air. Man makes fire to cook his food, to make bricks, burns refuse, melts pitch
(h)........ road construction and burns wood. All these things (i)....... heavy smoke and thus (j)........ air.

a d g j

b e h

c f i

3. Make five sentences using parts of sentences from each column of the table below.

Alad expressed to find out the ability of the boy

He asked that he would answer if he could tell where He is not
The sage went to a famous teacher

The learned man replied him where Allah was

The boy wished his desire to acquire knowledge

4. Complete the following text with right form of the verbs given in the box.

initiate | were invent was take educate | use digitalize | store have
Science has (a)........ many wonders and computer is one of them. Computer (b)...... invented overnight. It
(c)........ a long time and hard labour to invent computer. First of all, Pascal (d)..... the theory of “Digital

calculating system” in 1642. Though his attempts (e)..... not crowned with success, he initiated the research
which paved the way to the invention of computer. computer is now (f) ..... by all literate and (g)..... people.
It is used for (h)..... all data and information. The Internet (i)..... any connection without a computer set. To
make our country (j).... computer has no alternative.

a d g j
b e h
c f i
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5. Change the narrative style of the following text:

“Jim, darling, don’t look at me this way.” “I had my hair cut off and sold it, because | could not have lived
through Christmas without giving you a present. | just had to do it, “ said Della. “Say, ‘Merry Christmas’ Jim
and let’s be happy.”

6. Change the sentences according to directions.

a. On going home | found my mother ill. (make it complex)

b. He confessed that he was guilty. (make it simple)

c. Every mother loves her child. (make it complex)

d. A student must be disciplined. (Make it negative)

e. | know the place of Rabindranath’s birth. (make it complex)

f. There is no boy taller than he in the class. (make it superlative degree)

g. Students stood up as soon as the teacher entered the class. (make it negative)
h. On arrival of my mutton chop, she took me to task, (make it complex)

i. All must read grammar book. (make it negative)

j. If he loves his neighbors, they will love. (make it compound)

= |T|m (h D |a|o |To|lw

j
7. Complete the following sentences.

a) you will succeed.

b) We look forward to

c) He was walking fast lest

d) Unfortunately he was so late that

e) If we want to finish a work in time,
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

The dowry system is a (a)___ (society)___ curse. It is nothing less than a (b)__ (dread)__ bane to a family
with a (c)___ (marriage)___ daughter or sister. A poor family with a maiden or spinster finds it (d)___
(possible)___ to marry her off. In many cases, the parents of such brides are (e)__ (force)__ to promise
dowry. Often such a (f)__ (help)__ girlis (g)__ (brute)__ tortured within a few weeks for her family’s (h)__
able)__ to pay the promised dowry. No doubt, it is a (i)__ (lust)__ demand of some covetous people. It is
high time our eligible bachelors started shouting a big ‘No’ to this heinous vice. We must raise awareness
against this (j) (abominate)___ crime.

a d g j
b e h

c f i
9. Make tag questions of these statements.

a) Most of them were present, ?

b) He dares not to do the work, ?

c) The headmaster and secretary made a plan, ?
d) The jury gave different opinions, ?

e) The unfed should be fed, ?

10. Complete the passage with suitable connectors.

We live in an environment (a).... includes everything around us. A good environment creates good
inhabitants (b) ...... a bad environment creates bad inhabitants. (c)...... people live in an environment, they
can bring about a change of it. (d)...... we dislike pollution, we pollute the environment. We need to
cooperate with others (e).... we want to keep our environment safe and sound.

a c e
b d
11. Rewrite the following passage and punctuate where necessary.

stop you are eating all our bread shouted the two rats i am doing my best but ive told you its difficult said
the monkey give us the little piece said the rats this is my piece havent i done a lot of work for you replied
the monkey how foolish we are believing you said the rats
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